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Example

1. Construct a circumcircle of the triangle ABC where

AB = 5cm,  and BC = 7cm

Watch Video Solution

∠B = 75∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vlUwgL3W4cgX


2. In the figure, O is the centre of the circle. Find the

length of CD, if AB = 5 cm. 

Watch Video Solution

3. In the adjacent figure, there are two concentric

circles with centre ‘O’. Chord AD of the bigger circle

intersects the smaller circle at B and C. Show that

AB = CD. 

Watch Video Solution

https://dl.doubtnut.com/l/_vlUwgL3W4cgX
https://dl.doubtnut.com/l/_mvs0ncuLOZPu
https://dl.doubtnut.com/l/_iTUfn87LjCLt


4. Let ‘O’ be the centre of a circle, PQ is a diameter,

then prove that  (OR) Prove that

angle in a semi-circle is right angle.

Watch Video Solution

∠PRQ = 90∘

5. Find the value of  in the adjacent figure

Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_iTUfn87LjCLt
https://dl.doubtnut.com/l/_iL7m5NqEDuat
https://dl.doubtnut.com/l/_OBh9EJJhpOV5


6. In the figure,  then find  ? 

Watch Video Solution

∠A = 120∘ ∠C

7. In figure,  is a diameter of the circle,  is a

chord equal to the radius of the circle.  and 

when extended intersect at a point E. Prove that

. 

Watch Video Solution

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄CD

¯̄̄ ¯̄¯AC ¯̄¯̄¯̄BD

∠AEB = 6∘

https://dl.doubtnut.com/l/_4LP2XtgdefHb
https://dl.doubtnut.com/l/_lX4Z8ruoLGbC


Do This

1. In the figure, which circles are congruent to the

circle A? 

Watch Video Solution

2. What measure of the circles make them

congruent?

Watch Video Solution

https://dl.doubtnut.com/l/_k2mGeRKdQbUA
https://dl.doubtnut.com/l/_s9zE8NKPTWOI


Try This

1. In a circle with centre 'O' .  is a chord and 'M' is

its midpoint . Now prove that  is

perpendicular to AB 

Watch Video Solution

¯̄̄ ¯̄¯AB

∠(OM)

2. if three points are collinear , how many circles can

be drawn through these points? Now, try to draw a

circle passing through these three points.

Watch Video Solution

https://dl.doubtnut.com/l/_bD5Kgr1u7dOJ
https://dl.doubtnut.com/l/_XtfQtms9fFiX


Exercise 12 1

3. In the figure, O is the centre of the circle and AB =

CD. OM is perpendicular on  and  is

perpendicular on . Then prove that OM = ON. 

Watch Video Solution

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄ON

¯̄¯̄¯̄CD

1. Name the following parts from the adjacent figure

where ‘O’ is the centre of the circle 

https://dl.doubtnut.com/l/_XtfQtms9fFiX
https://dl.doubtnut.com/l/_WURFFSwN5Hnt
https://dl.doubtnut.com/l/_acwggPw9neXG


 

Watch Video Solution

2. State true or false . 

A circle divides the plane on which it lies into three

parts.

Watch Video Solution

3. State true or false . 

The region enclosed by a chord and the major arc is

https://dl.doubtnut.com/l/_acwggPw9neXG
https://dl.doubtnut.com/l/_6FHjZH35F0fy
https://dl.doubtnut.com/l/_vcW4tgczugz8


major segment

Watch Video Solution

4. State true or false . 

The region enclosed by a chord and the major arc is

major segment

Watch Video Solution

5. State true or false . 

A diameter divides the circle into two unequal parts.

Watch Video Solution

https://dl.doubtnut.com/l/_vcW4tgczugz8
https://dl.doubtnut.com/l/_fr76epYJv0hW
https://dl.doubtnut.com/l/_oatOnoUXI2y3


6. State true or false . 

A sector is the area enclosed by two radii and a

chord

Watch Video Solution

7. State true or false . 

The longest of all chords of a circle is called a

diameter.

Watch Video Solution

https://dl.doubtnut.com/l/_oatOnoUXI2y3
https://dl.doubtnut.com/l/_rwzvU0DmG6sE
https://dl.doubtnut.com/l/_1nsIPrqnYOkX


Exercise 12 2

8. State true or false . 

The mid point of any diameter of a circle is the

centre.

Watch Video Solution

1. In the figure , if AB = CD and  find 

 

Watch Video Solution

∠AOB = 90∘

∠COD

https://dl.doubtnut.com/l/_eInpBspgAfR5
https://dl.doubtnut.com/l/_lJy095PExo9U


Exercise 12 3

2. In the figure , PQ = RS and  . Find 

 and  

Watch Video Solution

∠ORS = 48∘

∠OPQ ∠ROS

3. In the figure PR and QS are two diameters. Is PQ =

RS? 

Watch Video Solution

https://dl.doubtnut.com/l/_hZdyIqAh3yBa
https://dl.doubtnut.com/l/_mc8k8JQEr9jh


1. Draw the following triangles and construct

circumcircles for them. 

In 

Watch Video Solution

ΔABC, AB = 6cm, BC = 7cm  and ∠A = 60∘

2. Draw the following triangles and construct

circumcircles for them. 

in 

Watch Video Solution

ΔPQR, PQ = 5cm, QR = 6cm  and RP = 8.2cm

https://dl.doubtnut.com/l/_u8KDWKIdREiX
https://dl.doubtnut.com/l/_jbsGVvyhSlfl


3. Draw the following triangles and construct

circumcircles for them. 

In 

Watch Video Solution

ΔXY Z, XY = 4.8cm, ∠X = 60∘  and ∠Y = 70& ∘

4. Draw two circles passing through A, B where AB =

5.4cm

Watch Video Solution

https://dl.doubtnut.com/l/_fsJIR8hkA7HL
https://dl.doubtnut.com/l/_ehvY44tmFzuO


5. If two circles intersect at two points, then prove

that their centres lie on the perpendicular bisector

of the common chord.

Watch Video Solution

6. If two intersecting chords of a circle make equal

angles with diameter passing through their point of

intersection, prove that the chords are equal. 

Watch Video Solution

https://dl.doubtnut.com/l/_aj5zUF89Rl3E
https://dl.doubtnut.com/l/_SJsYLwJQSGaT
https://dl.doubtnut.com/l/_gjmDYsfgGHwG


Exercise 12 4

7. In the adjacent figure, AB is a chord of circle with

centre O. CD is the diameter perpendicualr to AB.

Show that AD = BD 

Watch Video Solution

1. In the figure 'O' is the centre of the circle 

 find  


Watch Video Solution

∠AOB = 100∘ ∠ADB

https://dl.doubtnut.com/l/_gjmDYsfgGHwG
https://dl.doubtnut.com/l/_ZBkj2Ml5KR1Y


2. In the figure  then find  

Watch Video Solution

∠BAD = 40∘ ∠BCD

3. In the figure , O is the centre of the circle and

 . Find  

Watch Video Solution

∠POR = 120∘ ∠PQR  and ∠PSR

https://dl.doubtnut.com/l/_ZBkj2Ml5KR1Y
https://dl.doubtnut.com/l/_8tMT8xrc14lc
https://dl.doubtnut.com/l/_8ljDdWABMUaF


4. If a parallelogram is cyclic, then it is a rectangle.

Justify.

Watch Video Solution

5. In the figure, ‘O’ is the centre of the circle. OM =

3cm and AB = 8cm. Find the radius of the circle 

Watch Video Solution

https://dl.doubtnut.com/l/_H2ISutg7W5an
https://dl.doubtnut.com/l/_FoBMwUZUhIp2


6. In the figure, ‘O’ is the centre of the circle and OM,

ON are the perpendiculars from the centre to the

chords PQ and RS. If OM = ON and PQ = 6cm. Find RS 

Watch Video Solution

7. A is the centre of the circle and ABCD is a square.

If BD = 4cm then find the radius of the circle 

Watch Video Solution

https://dl.doubtnut.com/l/_SUtyAmLhdHJv
https://dl.doubtnut.com/l/_YVrVYTOMnKVa
https://dl.doubtnut.com/l/_rPy88hK6Fyps


Exercise 12 5

8. Draw a circle with any radius and then draw two

chords equidistant from the centre

Watch Video Solution

9. In the given figure ‘O’ is the centre of the circle

and AB, CD are equal chords. If  . Find

the angles of the OCD 

Watch Video Solution

∠AOB = 70∘

Δ

https://dl.doubtnut.com/l/_rPy88hK6Fyps
https://dl.doubtnut.com/l/_M9DjNCubZd5i
https://dl.doubtnut.com/l/_pu1qMMikuxqG


1. Find the values of x and y in the figures given

below 

Watch Video Solution

2. Given that the vertices A, B, C of a quadrilateral

ABCD lie on a circle. Also  , then

prove that the vertex D also lie on the same circle.

Watch Video Solution

∠A + ∠C = 180∘

3. Prove that a cyclic rhombus is a square

https://dl.doubtnut.com/l/_pu1qMMikuxqG
https://dl.doubtnut.com/l/_J7Ieo8zkTsmU
https://dl.doubtnut.com/l/_CqDBvFwKCRDx


Watch Video Solution

4. For each of the following, draw a circle and

inscribe the figure given. If a polygon of the given

type can’t be inscribed, write not possible. (a)

Rectangle (b)Trapezium (c) Obtuse triangle (d) Non-

rectangular parallelogram (e) Accute isosceles

triangle

Watch Video Solution

5. (f) A quadrilateral PQRS with PR as diameter.

Watch Video Solution

https://dl.doubtnut.com/l/_CqDBvFwKCRDx
https://dl.doubtnut.com/l/_Q02D4ENPazSW
https://dl.doubtnut.com/l/_y3bR2GYPZgHn


Watch Video Solution

https://dl.doubtnut.com/l/_y3bR2GYPZgHn

